"Te S A giwa ¥ BT % Hao e § ¢

(A) W Q TA-37eT T ®

(B) % @ & o= ©w @ Wi AId ©
L0 Hiw 3E WF o T A §

(D) T® W@ F A 37 2 Wed

2. 'TR-9EA S HRIEU % T §
(A) S e
(B) <&t ®WRAT
(C) et e
D) SH
3. 'IgvEt ' TR SHWE! R ¥
(A) 3 wfam
(B) 4w
(C) < A
(D) S =T

4., 'UUU F A1 E FI & T4l EH T €
(A) 90T H I
(B) TUde yF& 9 FIY A
JC) i fagwd & %0 AaIgd
(D) HI GH TI BIRAT
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TAGTE | 'S F HAA € ¢
(A) ==

B) T % g

(C) = eAare

(D) aREH

TR ‘SREF’ % TaeE ©
(A) S HET

_(B) ITETH HE

(C) A QA AR

(D) @ e

B R o e T s R
(A) T

;@)’M

(C) Tt

(D) e

& YA A T

() faftr o18 w9 THE T

'@ fafty 373 TSI STET-3E T

(C) fafa 3 form v 7% 14

D) fafy veeh afg, s 9= | St
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9. TR 'fET e F AWHAR

(A) fe= (B) fo=1
(C) sitw «D) &
10. w§ S & fremd @R % (A), (B), (C), (D) forew @ wet & T -
(a) =Rfs (i) =t
®) W= (i) afm
© w=d (i) X 3T g W
@ s @) 7w

@ & © @
@A ™ G @O
® O @) @) @)
L) G ) ) W)
D) Gi) () G @)

11. G St & faems @R 7 (A), (B), (C), (D) fawes @t w&t & T -

(@) O Tt .
(b) e (i) s ifewTed
© wfeard i) et
@ e ) Tah

@ ® © @
@ @ G O W
® @ G G) @
© v @) @ 6
“m) @ ) @) O

D -THD3 [58]
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12. TN @ frems @ W (A), (B), (C), (D) forded @ WA A TN

(a) et

(b) Brer=ht
(©) Sigm
@ s

v

(@ ©)

A @ @

®) - Gv) i)

© Gy @

wb) (i) (i)

13. uﬁmﬁ@aﬁaﬁ@r&*q@),@),(@,@)ﬁmﬁaﬁaqﬂ:

(@) wm
®) wqra
(€) fuzan
@ firermen

(@) (&)

A) v @)
® O
© v i)
MD) (@) (v)

(i) o2 =R
ORI ik I
IR

(V) TR % wg1 @

© @
(i) (iv)
@
(if)  (iv)
) @

() aqa, g1 & W1
(i) waen <51 & =@
() effe- v T egar

(V) SR F AT F w

© @
(i) (i)
(@) (Gv)x
@ ()X
@) (i)
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14. TR ‘uge’ wee F A v Bed
(A) WBR (B) ww&
©O @ (D) =X
15. o9 ¥ ' vae ' & BETEl IS €
(A) HreA | (B)
©) O
16. ‘Heq’ T BURTEY veg WAL
(A) weg (B)
(C) #fgan (D) =g
17. SR ' T iR F I@E T
(A) ®& «B) I&
©€) T= (D) T
18. nﬁsﬁ:ﬁaﬁaﬁm&"nm,(B),(C),(D)ﬁmaﬂﬁag#}:
(@) TE () @R % T 9 99 F &= (144)
(& W (i) T-sen {1
() ra (i) " % SR A 1A
(d) T (iv) Wi’y
@ & © @
(A @) Gy @ (v
WB) () (i (i (i)
© @ G ) (v
@ ™ O G i)

CQRP-



19. & W o s o ard wom AR HA A7
(A) <iS firdw
(B) i < et
© = R g
(D) 3 weER yAE fiad
20. G-I ¥ R Tof e R & 3y - ey g & 1 GER-1 7 et G-I 9 i
91 4 U T e | v swoaf

-1 el
@ = () v
®) = ;\*7"5(”) qifgET q
CE R [

-

@ = '_,/ b)

Q< :
@ Wb @ @ |
JA) v @) @ @
B) @) @Gi) (@(Gv) (@)
©) Gi) & v (@)
® @ G @) @)

21 Frefoafem e & 9 3 o F
(B) el i s § Tt afgan W @m iy
(© e & g & <ol g 3y @ &
(D) w3 g @ <ot e F wor ww few

D {rete ' [8] | s



|

22.

23.

24,

25.

‘TS 1 g fasau w9 @ g ? ‘ i
(A) W\ (B) HwifSh
(C) wmfsh (D) HTE

gel-1 § =R Wi vg ud ger-11 # wefua g % 9w fe g § 1 el A e
gEr-11 ¥ Fifae aun i f§u 7e $e @ w8 sw g :

-1 -1
@ = () g5 o™
®) Frgdt (i) srorditvE ™

© wé-w§ (i) agefs v
@ wE-wgq (V) oy aww

< :
@ B ©@ @
(&) (v) Gii) @) )
®) Gi) @) @) (i)
© @) (@) @v) GEyE
M @) G ) (@D

S

"I 319 TR Il WM | —%9 9 ¥ SE-wr e § 2
(A) wHIT= (B) EaT=A
(C) wgar=A (D) = A = i ==t

fodh e 3 S T o o e i T g e el X o 9 fed 3
Wi ¥4 @l QO & a1 srese | & T @ sifufa fen ¥ m%mamqﬁ
w1 MR ?

- (A) HEpd > Wid> | > e > ERg - [

(B) HE&hd > Uifel > YUY > Wiehd > oS
© H@ﬁ>mw>m>mﬁ1>aqa@
D) m>wﬁf>m>mw>w

[9] CQRP- 2



g=h-1 1 T g1
26. W—lﬁ?ﬂwww.nﬂﬁﬁmW-m%mmW%"fﬂ kS
& e den A frw g e F W I IR

i1 TR-11
(@ @R () T o=
(&) wefter (i) ey
©) g (if) ¥y =
(@) SFqe (V) fydye v

E TR

@ 0 ©© @
A) (v) @) @) @)
® G v @) @)
© @ @ v (i)
@ & G v G)

27. ‘9%’ 1 fadim = g

28. 'dH<d'FW U= T?
(A) EarEs Hal
(B) wifiares Gl
*Q) T fadre
(D) Wi o

29, @mﬁmw%mummwmwﬁmmfmm%@ww
1 % 2 o
(A) FRE T B) www

© e | () T=




30.

31.

32.

33.

‘W’mmvﬁﬂ—wm:

(A) -+ YU
(C) T+ 390

‘ﬁmﬁu'wﬁmm%:
(A) 3

© @

2k e At BRI T T |
(A) 9 e F1 Wl T

(B) & & w@WE &l &l

© UESiRIEGIRIE

(D) &l fir=a g

(B) g + IW
(D) @@l + ST

q;i’r-lﬁquﬁ@-nﬁmaﬁﬁqmﬁ|W-Imﬁaﬂwﬁ-nﬁﬁmam#\%

faw Tu e @ 9§ W I
a1 geit-11
(@) werg () afan
OREGE] (i) wrf
(©) w19 (i) %med
(d) 3I9gH (v) a=E
Gc:
@ ¢ @ @@
(A) @(v) @E) @) )-
B) @) v @ (.
©) @ @ @) 3
O @ @ @) i)
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35.

T 1A I

'qﬁhlﬁnﬁmm?

34. ﬂéanwﬁqw%lsﬂﬁﬁﬁﬂwﬁﬁﬁ v 7 9 e
qieei g ? ‘ i
(A) =@ B B T@
© @ (D) T
e e v o T w wafer o o A g e E
FEit-11 9 iy qen 2 e e e @ @l sw g :

Gei-1 g1
(@) yerofor () famy
(b) <=uifur (i) z=
(©) ssraifor (i) fag
(d) grirarfor ) guo=

36.

@ & ©@ @
A G) - G ) G
B) G) O @) @)
SO (i) ) () @)
O @) @ O i)

= R e R T 1 W) AT Gie/eTie R % gu fiy e e @ W I

g : |

() gH (i) I
(ifi) TAM (v) TR
e

(A) & (i) IS ©

B) ()W (i) I € IS T
(C) (), (i) & (iii) i & 3G B
D (@), (i), (i) T (iv) TR & S €
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37. % faffgm #ie wm ¥, ‘DEPLORE’ 1 2322736922’ ik ‘RHETORIC’ #
"919222691824° % ¥4 H FIHd a1 v &) 3 wiwr & ‘“TARNISH’ ® Hd FHergd
e smam ?
(A) 226181491019-
UB) 22695181019,
(C) 20269518198

(D) 221181418198

In a certain code language, ‘DEPLORE’ is coded as ‘2322736922’ and ‘RHETORIC’
is coded as ‘919222691824°. How will ‘“TARNISH’ be coded as in that language?
(A) 226181491019 ’

(B) 22695181019

(C) 20269518198

(D) 221181418198

38. mﬁmwwm?ﬁ?ﬁvﬁmnmmmﬁa%ﬁ@mm el e
q iR ot de, viwdl e q gafud €

32:896 ::41:7::53:2597
(A) 1763 (B) 1517
(C) 1640 ' (D) 1482
Select the option that is related to the third number in the same way as the second

number is related to the first number and the sixth number is related to the fifth

number :

o
32:896::41:?::53':2597
(A) 1763 B) 1517

(C) 1640 (D) 1482

"~ A L4




BATTT

39. M oMFf § e i ¥

(A) 52
(B) 54
(C) 50

(D) SWw 9 | =% =&

How many triangles are there in the given figure?

(A) 52
(B) 54
(C) 50

(D) None of the above

D [141




40. few g s o frerd W wrgEE T A WH oifwe fF e A D T
mmﬁ,mﬁmmﬁmaaﬁﬁfmmﬁ%lwmﬁﬁﬁ
FA-TUFA-T Frepd srfirwerl =1 afbe ®9 Y TR wE@ THQ §

T : ‘
(1) 9 T & & §

@) fob 7 wa 99 B0 §

(3) fak diwn S5 B E

free :

(D) @it 9 F T 1 G § -
(D) =t well & T W I G ¥
(A) fak ferd | oo = & _
- (B) frepd [ SR I SHi oo & §
- (C) = fred STERO T Fal '
(D) faF fr=pd 11 sIgeRer =tar &

Read the given statements and conclusions carefully. Assume that the information
given in the statements are true, even if it appears to be at variance with commonly
known facts. Decide which of ‘the given'conclusions logically follow(s) from the

statements :

Statements :

(1) Some flowers are fruits

(2) Only few fruits are plant

(3) Only plant is tree

Conclusions : ‘
(I)  All plants being fruits is a possibility
(I) All fruits being flowers is a possibility

(A) Only conclusion I follows

(B) Both conclusions I and II follow
(C) None follows

(D) Only conclusion II follows

i @@ 5] CaRP- 2




T WEW 41 AT 42 W g Prdyr .

TFER W W Y e P gl W S DRI ;
T WiR g A Qe g wan ¥, 9w 3w @ iR IOTﬁ-Wﬁ@P"“w%'
Reg PR WE W R W 0 . wrer fig S g 1 fog § @ 9 ST H 6 H.
ﬁﬁfﬂqﬁﬂmﬁlmmwaﬁxw%mmLmq@ﬁ%m4ﬁ.aa'm%l
g L W TR TE < ) ol Ser g o 3 & i 7F farg F W TEE ' S fag
M¥ @ ¥

Direction for Question Nos. 41 and 42 :
Study the information carefully and answer the questions given below :

A person starts walking from point M, he walks 10 m North and reaches at point P. From point
P, he walks 9 m in East direction and reaches at point S, From point S, he walks 6 m South
and reaches at point /. Now he takes a right turn and walks 4 m to reach at point L. After
reaching at point L, he starts walking in South direction and reaches at point F, which is

East of point M.

41. w&ﬁgfvﬁgsﬁ:sﬁr.vﬁmﬁ%,?hMaﬁtN%sﬁ—q':fmqaw%?.
(A) 317 = -
(B) 8 .

(C) 10v2
D) 234 .

If point N is 3 m West of point S, then what is the shortest distance between M and
N?

(A) 317 m

(B) 8m

(C) 10V2m

(D) 2434 m

= , |
[16] e CQRP- 2



42, AR fagy, g PR sH @A & afagy fag = frg fam 7 ©2
(A) 3| ' ' |

(B) =hu-gd
(C) =i
(D) IW-9T=H

If point J is 5 m East of point P, then in which direction point J is with respect to
_point [?

(A) North

(B) South-East

(C) South

(D)_ North-West
43. 3IM & & 999 B W FEfarad ﬁ@mﬁ'wﬁa(i))ﬁuﬁmﬂﬁaaﬁﬂ%:
143, 159, 207, 219, 255, ?
(A) 279 (B) 275

(C) 264 D) 304

Select the number that can replace the question mark (7) in ihe following rselries :
143, 159, 207, 219, 255, ?
(A) 279 (B) 275

B TRy I TV TT . CQRP- 2



i 17 ‘, k(yo1r Gy
4. um Fileer ahe s N CENGINRRR® w1310 A ey i1 sfit INC OME! 1 07"

0 g e o &1 s Y rEAcHpR: A A A S

(A) 136

(B) 122

(©) 125

(D) 129

Ina certain code language, ‘ENGINELR’ is coded as ‘131" and ‘INCOME' is coded
as *97". How will ‘TEACHER’ be coded as in that language?

(A) 136
(B) 122
(C) 125
(D) 129

45. S¥ " w1 W W S Feafafea swer ¥ v fag (2) A vt w9
33, 35, 42, 54, 66, 96, 113, 169, ?
(A) 174
(B) 231
(C) 207
(D) 191

Select the number that can replace the questlon mark (?) in the followmg series ;

33, 35 42, 54, 66, 96, 113, 169, ?
+2 47 R HA

(A) 1745~

(B) 231

(© 207

(D) 191 :
D 42 (18).. ., o - (CQRP- 2




46. mmﬁmmﬁmawﬁmmmmwﬁﬂmﬁmm(?)ﬁ'

47.

yfrenfa X &% -
7 4 | 6
927 | 7 | 349
1474 | 149 | 947
(A) 107 (B) 128
©) 111 (D) 119

Study the given pattern carefully and select the number that can replace the question
mark (?) in it :

7 4 6

927 | 7 349

1474 | 149 | 947

(A) 107 - (B) 128

(C) 111 ‘ (D) 119

39 faFeq 1 994 & Togd d@ ST @E ¥ Hefud € 99 fgg o e A @ ¥ .
(124, 88, 53)

(A) (56, 137, 48) X (B) (147, 64, 51)

Q& (171,97, 67) (D) (84, 128, 56),(

Select the option in which the numbers are related in the same way as are the numbers
in the given set : '

(124, 88, 53)
(A) (56, 137, 48) e (B) (147, 64, 51)
©) (171, 97, 67) | (D) (84, 128, 56)

[19] ‘CQRP- 2
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mﬁ@rmaﬂrw%mﬁaw,
SR R W SR A oy vt v E

HORST UV, Wk X s ufar ¥ & vaer & < o iow =AW % BRI Th
Wﬁ‘%“"m%l9Wﬁ?ﬁ?ﬁmﬁaaﬁgawﬁﬁqﬂ_ﬁmﬁﬁﬁﬁﬁﬁlﬁT
I E SV el A 1w s wh @ s g #) sweh 34 318 0 F T
€W ¥V R S e g &1, o o & o Hheen waw T

Direction for Question Nos. 48 and 49 :

Read the information carefully and answer the questions given below :

PORS, T, UV, Wand x are the nine members of a family who are stuck in a house due
to a severe cyclone. Among the nine family fhembers; three married couples are present. Both
the parents of a child are alive. R is the paternal uncle of T, who is the only daughter of V.
W is the paternal aunt of X, who is the only daughter of R. S is the daughter-in-law of 0,
who is the father of . I is not married fo S. U is the mother of P, who is not a female

i

member.

48. US V | =1 Gay &2

(A) =f 3 (B) st
(C) = | » (D) ™
. How is U related to 72 ‘ %
(A) Mother (B) Sister-in-law.
(C) Matemal aunt 'y _,. (D) Mother—in-lq{;v' N

. THQ F =7 dey §2

JOR S AB) =l o

©) | (D) =&

How is T related to 0? L
(A) Daughter-in-law. =~ (B) Daughter

(C) Grand-daughter : ANNTar (D) Sister

[20] | T CORP- 2
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50. fau e sl iR frensl ) vim @ o a7 W o B weEl § @ g SR W
MﬁWWWWWMmmWMWﬁWMWﬁ
ﬁw&ﬁwﬁmmmﬁmm%ﬁ% TR ‘

() wff e oy & (2) < wEX U9 Tl R
(3) FEA W T # ' ;
(D I =T T B e § () 9 g fen & ¥6a €
(1) &+t <o foem & wa & (V) #E 2w wel =Y @

(A) fatfsﬁaﬁnaﬂnnaammﬁ%

(B) Wit fFr=hd arqERer = | ¥ -

(C) =K frhd agmw =&t C fvav
(D) fak fre=pd 11 srgeor =t § rst N

Read the given statements and conclusions carefully. Assume that the information
given in the statements are true, even if it appears:to be at variance with commonly

known facts.  Decide which of the given cconclusions, logically follow(s). from the

Sstatements :

Statements : ‘
(1) - All cities are districts =~ {2). No city is state

(3) Only country is state X pas B o

‘Conclusions : - i

(I) Al cities can be state £15 " (II) Some states can be dish*ict

Im All countries-can be district - (IV) No country is city
(A) Only conclusions II and III follow

(B) All conclusions follow |

(C) No conclusion follows |

(D) Only conclusion II follows

D g | [21] CQRP- 2



woT T 51 31T 52 &% o e -
fr=fafad T 9 99 Hem-SeT 949 § 20 ® SEd
a5 2017 3 & Fem-aTEm a3 #1 FmEfed U

=200 03

vvyv S e .
vvyv| AN —— 4
= -+ 4 o0
|dl s+ foem %%| I

Direction for Question Nos. 51 and 52 :
Following pie charts show the percent of fund allocated to 6 different sectors in Union

Budget of a country in three different years :

Total amount allocated to 6 different sectors in year 2017=200 crores

Year 2017 Year 2018 Year 2019
- Defence vvyl Industry — Agriculture
Service +*.| Education oxey| Other

D als [22] CQRP- 2



51.

2017.2018331(201911'5?6@3&3@&3%@%%4:5:6%17&3
il ) e R h TeAfaa A W s s & =pREm afn w5 ST
T :

(A) 69 : 138

(B) 276 : 205

(C) 65:27

(D) 387:152

The ratio of total amounts allocated to these 6 sectors in 2017, 2018 and 2019 is
4:5:6. Find the ratio of maximum to minimum funds allocated to any of the given
sector in all the three years taken together :

(A) 69 : 38

(B) 276 : 205 \

(C) 65 :27

(D) 387 :152

afe 2019 & T STem-oTE S W Efd F@ UM T 400 HUZ &, A 2019 F @
gy § aydfea qfw =& &% § 2017 ® wfw § feran wha v §2

(A) 40%

B) 50%

(C) 37.5%

(D) 45%

If total amount allocated to 6 different sectors in 2019 be ¥ 400 crore, then by how
much percent fund allocated in defence sector in 2019 is more than that of the same
sector in 2017?

(A) 40%

(B) 50%

(C) 37.5%

(D) 45%

% = rADD _ 2



WYY WA 53 3w 54 & faw frdyr
QT T WE HsveAmT W oW ¥ ww A

IR &R frafa (2 §) -

800
700

600 |-

500

495
523
413
459

326
293

612

2RI

519

frarfa

618
1

515

ABC 0 w1 54 2014 § 2019 ¥ sy ol frafa <m W)
=

2014 2015 2016 2017 2018 2019

Direction for Question Nos. 53 and 54 :
Study the given graph and answer the questions that follow :

Imports and Exports of com'nry"ABC during the year 2014 to 2019 (in crores)

Imports
Exports
T 800 ~
o ~
2 700 N %
(@) - o
= o
S 600 - 9 > B,
8 oS- N = He Heo
w500~ = o 9 ¥
B =
S, 400 |- 2
5 o g
o300 - &
S 200 |-
é‘ 100 |-
= 03014 2015 2016 2017 2018 2019
CQRP- 2

°

a_‘j

=t
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=

53, T ABC % = 2016, 2017 5 2019 T Prate =, wd 2015, 2016 sht 2018 & F7

54.

A A S fn § 7
(A) 4.7
(B) 3:5
€ 2:3
(D) 4:5

What is the ratio of total €xponts in the years 2016, 2017 and 2019 to total imports
in the years 2015, 2016 and 2018 of the country ABC?

(A) 4:7

(B)y 3:5
(C) 2:3
(D) 4:5

at 2014, 2015 @1 2018 # 201 ApC = Ta fram ad 2014, 2017 2t 2019 #
ABC % %1 s 4 faramn ufavm =0 £ 7

(A) 31.25%

(B) 28.57%

(C) 41.66%

(D) 37.5%

The combined exports of the country ABC in the years 2014, 2015 and 201 8 are what
percent less than the imports of the country ABC in the years 2014, 2017 and 20197
(A) 31.25%

(B) 28.57%

(C) 41.66%

(D) 37.5%

[25] 'CQRP- 2.



55. fdl @@ 2 W1 ¥, ‘EDUCATION® % ‘GHFXDLWQR’ ferat =i 139

S6.

% ‘FRAGRANCE’ % %@ $dtga frar wmom?
(A) UIJDUQDHF (B) UIKDTRDHF
(C) UHJDURDHGW (D) UIJDTQDGF

In a certain code language, ‘EDUCATION’ is written as «GHFXDLWQR’. How will
‘FRAGRANCE’ be coded as in that language? {

(A) UIJDUQDHF (B) UIKDTRDHF
(C) UHJDURDHG (D) UIJDTQDGF

‘P#HQO ' ®ad § ‘P, 0 w1 ufy

P@Q ' # P, QW W ¥

‘P& QO 'T AR ‘P, QW |

P% QO WA T ‘P, 0w @

AR CHF@N%J # G & U # Z foran v, < Frafafea § | SiA-91 wu= 981 =l
®? *

(A) J, ZH TR &

(B) N3iR U wE ¥

(C) FFURI sgT &
(D) G, CH 4

‘P # O’ means ‘P is the husband of
‘P @ Q' means ‘P is the sister of 0’
‘P & O’ means ‘P is the mother of 0’

‘P % Q" means ‘P is the son of "
IfC#F@N%J # G & .U# Zis written, then which of the following statements is not -

correct?

(A) Jis the father-in-law of Z
(B) Nand U are brothers

(C) Fisthesister of U

(D) G is the mother of C

[26] CQRP- 2
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8:576 : :13 :7
(A) 2210

(B) 2197
(C) 2366 .

D) 2112

Select the option that is related to the third number in the same way as the second
number is related to the first number :

8 :576 : : 13 : 9
(A) 2210 | (B) 2197
L) 2366 (D) 2112

58. frfefad sjeen 4 w9 o8 (7) ¥ W | =0 @2

hKr, gMo, fOl, 2, dSf

i NG

(A) eRj
(B) ePi
(C) Qi
D) <Qh

Which will replace the question mark(?) in the following series?

hKr, gMo, fOl, 7, dSf

(A) eRj
(B) ePi
(C) eQi

(D) eQh lcs x13




59. Frefafad wei § o1&k % 9R wyp fag o & o

60.

61,

ﬁ?ﬂqwmﬂﬂa{ﬁﬁﬁ@%

S T STer § 1 S99 AWM 39aR wHE @ g
(A) EHL (B) PSW

(C) ILP Dy SVY

, which three are alike
In the following question, four groups of letters are given, out of

in a certain way, while one is different. Choose the odd one :
(B) PSW

(A) EHL
(D) SVY

(C) ILP
A 3R B TF &1 = waw: soaﬂzsoﬁﬁﬁfmmm%léwmﬂmﬂﬁmgr@’m

FO ol & IR 4 %m Bie Aqm ¥ o Tyl @ 48 i & qu € o # 1 fepaa foAl a6 4 3
*IH BT ?

A 16
(C) 18
A and B can complete a piece of work in 50 days and 80 days respectively. They begin

the work together, but 4 left after some days and the whole work is completed in

(B) 25
(D) 20

48 days. After how many days A4 left ?
(A) 16

(C) 18

T HMGR 391 §HH & A 569 @ x% SIGTRT IH WHM 1 < fafed wxan & ok 39
ﬁf‘gaqmw19%ﬁqzém%laﬁsﬁ8%m.mqm%,a‘rxmmm; i

(A) 1633% | B) 30%

(B) 25
(D) 20

(C) 25% (D) 33%%

A shopkeeper marks his goods x% above the cost price and allows a
the marked price. If his profit is 8%, then the value of x will be -

discount of 19% on

2
(A) 16-3-% (B) 30%
(C) 25% (D) 33-;-%




T '
62. A (4x + 1) B8 =+ 2 -9 < 34x 4 1)3x - ay2 - ) @, A xR E

63.

64.

65.

2 =
S B .1.. 1 : l

. =) 3 © o (D) 2

L83

If (4x2~l D7+ (3x - 4)3 + (2-x)3 = 3(4x + 1)(3x - 4)(2 — x), then x will be equal to :
A) = By I , 1

3 (B) . (C) : (D) -
(A) 3.2 (B) 3 © 6 B 253
What is the value of \/6 + m 9

T&F 999 qdan o wﬁﬁmﬂmﬁma@ﬁﬂm%mﬁﬁ%mﬁm
?ﬁﬁmaﬁUO%a@maﬁmm% ﬁtmaqﬁa@wﬂmwm%

(A) 60% (B) 35% (C) 65% (D) 75%

The number of girls appearing for an admission test is twice the number of boys. If
55% boys do not get admission and 30% girls get admission, then the percentage of
candidates who do not get admnssxon is :

(A) 60% (B) 35% © 65% (D) 75%

A 3R B 9AT 9T SHAW: PﬁgaﬂtgﬁpwﬁanmaﬁWW%m AR BY
ST AT A FA: 6 =Y iR gL Hﬁﬁ{ﬂﬁmﬁBﬁwﬁr%ﬁqﬁméa‘uaﬁvﬁr
(fpeit./ s, ®) % , , |
(A) 36 (B) 28 © 42 (D) 35

- A and B started their journeys from P to Q and Q to P respectively. After crossing each

other, A and B completed the remaining part of their. journey'in 6 hours and '8'-1- hours
respectively. If the speed of B.is 36 km/hr, then the speed of 4 (in km/hr) s :

(A) 36 (B) 28 C) 42 (D) 35




66. TH FEI % B A 3,969 T F Wy < F < | A W oA F ol A FeA Ol B HEAH

67.

68.

TR T fqu, o e F o1 # et wrem 2 -
(A) 53 (B) 67
(C) 63 (D) 59

The students of a class donated a sum of Rs. 3,969. If each student donated as many
rupees as the number of students in the class, then the number of students in the class
is :
(A) 53 (B) 67
(C) 63 (D) 59
ﬁqwafm_%quﬁmfm%aﬁmﬁmﬁmm?
21,11,27,8,5,12,7,23,3, 14,9, 19
(A) 125 y 4 "BV K
(C) 145 o D) 15
What will be the difference between mean and median of the given data?:
21,11, 27, 8,:5;12,17, 23;:3, 14,9,19
(A) 125 (B) 1.75
(C) 1.45 | D) 15

T S o 71 R, e e g e 4404 7

1 9T | 39% 99 ¥ fa1 aiteds a2
(A) 60% (B) 72.8%
(C) 96.8% Tova (D) 82.4%

" Each side of a cube is increased by ‘K’ cm, such that its total surface areais increased by

< 44%. What will be the change in its volume?

(A) 60% (B) . 72.8%
(©) 96.8% L i3 (D) 824%

~ e n . . . :
I4 e



69.

70.

T QU QU S & ferg 7 el o wwdm e § s 3 A A9 60 T,

- ssaﬁaaﬂr44vﬁa%uazm\m833% 85= %sﬁwo—% gy i wrl % fagm

WHER: 4:1,5:33R7: 1axaqmﬂum%|qr=ﬁaﬂ§aqmmmw
SUT FH U H W W U fwem §9

(A) 7:11 (B) 11:35
(€ 15:28 (D) 9:7

A milkman uses three containers for selling milk and their capacities being 60 litres,

56 litres and 44 litres respectively. He fills 83;%, 85— %and 90%% of the
containers with a mixture of milk and water in the ratlos 4:1,5:3and 7:1

respectively. What is the ratio of total quantity of water to that of milk carried by
him?

(A) 7:11 : (B) 11:35

(C) 15:28 D) 9:7

1 FgWd & HCF 3fk LCM %R (3x + 1) 3t (2243 — 15x2 - 9x +2) ¥ | Aft 0= agq
(6x2 + 5x + 1) %, A gHU =gug w7 &7

(A) 11x2-13x+2

(B) 11x2-13x-2

(C) 11x2+ 13x+2

(D) 11x? + 13x -2

The HCF and LCM of ‘two polynomials are (3x + 1) and (223 — 15x2 - 9x + 2)
respectively. If one polynomial is (6x2 + Sx + 1), then what is the other polynomial?

(A 11x® = 13x + 2

(B) 11x? - 13x -
(C) 11x*+ 13x + 2
(D) 11x2+ 13x -2

a4 2o 817 CQRP- 2
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71. P 3R QO ww @ wmhwa WA m~waﬁiuﬁaﬁlaﬁﬁkmamgﬁ€rﬁaﬁaﬁiﬁ

.?390$W_WﬂmﬁlﬁﬁﬂP'ﬂﬂﬁmx%mmQWW)’%‘

FifF

Qﬁﬂ@mamﬁ'maﬁmm%umRﬁﬁﬂwmsaﬁy%mm
Yam ¥, D S W WA T W R AR _‘-___38%% of x &7

(A) ¥ 780 (B) ¥ 630

(C) ¥ 840 (D) 7 819

P and Q purchase two different articles at same price. Later on R purchases both

articles at same price of ¥ 390 each from P and Q. But profit of P was x% while
profit of Q was y%, since Q calculates his profit on SP. If R sells one of the articles

to S at ¥% profit, then what is the cost price for S if y = 38.—6-% of x 7
' 13

(A) ¥ 780 (B) % 630
(C) T 840 | (D) ¥ 819

72. ASRBEF IR R @ 759 ferlt. ¥ a5 4 ¥ A =fw & vF T F
63 fptit/de aiw 91 frst/der = it ¥ ST Aen PE wW €| WG 39 fa Aen st
fag B W wEaa § 3t 9w e ¥, @ C W Uil = | fAe@m 71 8 AR C F 9
F g I@ H
(A) 132 T, (B) 135 femil.
(€) 140 i, (D) 138 .
Distance between A4 and B is 759 km. From point 4, two persons start their journey with
speed 63 km/hr and 91 kmv/hr respectively at same time. When faster person reaches at
point B and returns, then meets slower person at C on the way. Find the distance between
B and C: 91

| s

(A) 132 km ' (B) 135 km =
(C) 140 km (D) 138 km

A S (321 753 ks ECp W

‘A ! o A i : ) | Sy ‘—,’B



73 TF g, aﬂ‘i\"‘ABCDaﬁmﬁﬁngmaﬁmmm% forma ot AB = 112 AL,

74.

' BC = 8.4 9, Si’r{CD 63@4”1 %mowzﬁrmﬂnﬁ e

(A) 7.7 (B) 9.1

(C) 8.6 (D) 9.8

A circle touches all four sides of quadrilateral ABCD whose sides are 4B = 11.2 cm,

BC = 8.4 cm and CD = 6.3 cm. The length of side 4D, in cm is :

@) 17 @) 91

©) 86 (D) 98

TH UF H IHH MUR & THAR QA THS H 39 YR F1@ @l & £F 39 R 3 IR
v@ﬁtmm%mmmlzs-mﬁm%mﬁ@aﬁiﬁé 57.6 T,

% ﬁmﬁmﬁ@aﬁﬁ@mﬁﬁqmmwﬁmwm
(A) 7.2 94

(B) 8.4 ¥t
(C) 9.6 ¥ |
(D) 8 . |

A cone is cut parallel to its base into two pieces in such a way that the ratio of

" volumes of smaller cone formed and other part is 125 : 91. If the height of the cone

is '57.6 cm, then find the ‘height of the point from the base at which the cut was

made :

(A) 7.2 cm
(B) 84 cm
(C) 9.6 cm
(D) 8 cm




76.

10 7 TR 1 AT A 51 fonhl, 9 g0 ey F o A T A
36f%ﬁt7#T§ﬁiﬂ'aﬂﬁiiFmﬁ?Wﬁinnz%;anaz%;emga;gﬁﬁﬁfﬁﬁiaﬁTﬁium
R A R S (et 4

&) 5 (B) 4

© 3 (D) 45

A boat takes total 10 hours to cover 136 km in downstream and 84 km in upstream.
The time spent to cover 51 km in downstream is equal to the time taken to cover
36 km in still water. Speed of boat in upstream is how much more than the speed
of current (in km/hr)? |

(A) 5 | (B) 4

©) 3 | (D) 45 |
mﬁmmﬁgm%wm(ﬁm$mmm§q 15% 9fd o & WA 7
57,000 F TRT R 2§aﬁﬁmamm (z H) 9 i :

(A) ¥ 25,167

(B» ¥ 22,518

(,C) ¥ 23,842

(D) ¥ 26,496
Find the compound interest (in ¥) received in 2% years on an amount of ¥ 57,000

at the rate of 15% per annum, computing the interest on compound annual basis (up

to the nearest ¥) :
(A) ¥ 25,167
(B) ¥ 22,518
(C) ¥ 23,842

(D) ¥ 26,496 ap
~ CQRP-

2
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77- a, b aﬂ-( C W 3 . -
= S et &N 5 yhr § fo O-abcabcabc...zé%;

(a+b+c)mmmﬁm:

(A) 11 B) 8
€ 13 (D) 9
a, b and ¢ are three single-digit numbers such that  0.abcabcabe...— 12.. Find the
value of (@a+ b+ ). 37
(A) 11 (B) 8
| (C) 13 | | -. (D) 9

8. AR 57=7"=35%, A cw 9 w@ AT

+b 3
A) 2 _ ey
& 2= ® =t
. ab o
& . (D
© a+b ) T
If 5a —7% =35, then find the value of ¢ :
T adb N it
A azb ) ab
e ) : ol Jr
e . e 3
.Hb) ‘ i R AC
i =0 : ?‘g 6‘

D A28 & T . [35] [ e CQRP- 2



Wy €@ 79 3R 80 & few frdyr .

SHER B S v oK A e T v ¥ s

S TR TH F IR GF W T E) w0 4 F ww o § ofuw g9 §1 6w K =9 F
& I W § R AR M F fF N 2 S F ool gmm woF o 9 9 ¥ 9t H,

W F A AR SR O F T Ay B, e 0F 9 W IF A T ¥ wW A
F IR IR S99 F & A ¥ |

Direction for Question Nos. 79 and 80 :
Study the following information carefully and answer the questions given below :

Eight boxes are kept one above the other. More than five boxes are kept above box A.
Box K is kept immediately above box F and immediately below box M. Two boxes are
kept between box F and box W. Box H'is Kept ‘below box # and above box Q. Box B

is kept below box Q but not immediate below. At least four boxes are kept below box F.

79. frafafaa & € - vﬁ%?
(A) amAmvﬁ%%
(B) & B, Sl H& W &
(C) 9 M, af W & Jtew A 2
(D) 99 H % IR faF a9 g &

Which of the following is true?

(A) Box 4 is kept at the bottommost position

~ .
1+ (B) Box B is kept above box H K ——
i £ [@
©) Box M is kept immediately below box W —gj
' A
(D) There are only three boxes kept above box H H 1B

D e =



o

so'mlfﬁﬁr@m\'aﬁm.——%m@aﬂﬁﬁm#-m
LR
(A) K ‘(B)F
C) 4 D) M

Number of boxes kept below box H is same as number of boxes kept above
(A) K (B) F

€ 4 D) M

81. fau e ¥ = Wﬁ{éﬂ?amﬂﬁaﬂtmﬁwwmﬂﬁﬁﬁmﬁa(?)ﬁm
R i@ feen snowwa ®
33 ? 29
169 | 144 | 529
1102 | 1861{ 864
(A) 37 | @) s
(C) 26 | (D) 43
Study the given pattern careﬁ,llly and select the number that can replace the question
mark (?) in it :
33 1 29
169 | 144 | 529
. 1102 | 1861| 864
(A) 37 | ‘(B.)'_ ST
(C) 26 (D) 43
D

[37] CQRP- 2



82. A Ry M W N ww aifnwee fm e & foreds wwe @ wrowd 1o T sy
e A Frefafan wronsll wi e we ay qu won § 06 @ sromsiond e
¥ fafea ¥ .

& ;

& I} WERE A o w guEw ool sy aifimwan w3 & fer smavrw gl

W I WRA & W@ B F Ivew o ger a7 gwd B

SHTWTQ' : |

) AR i A siffeam o daw i W X @, A wIEE G SE FY R
el FE IwfTE A gfn i

(I) 9" *19 & fau 999 a9

(A) foF uron | fafkq ¢

(B) wrwd | sk 11 3 fifiea ¥

(C) fak wrom 11 fafga
(D) 1R 11 ¥ A = fifeq 21 &

In the question given below, there is a statement followed by two assumptions
numbered I and I1. You have to consider the statement and the following assumptions,
and decide which of the assumptions is/are implicit in the statement :

Statement :

Equality of income throughout a community is the essential condition for maximising
the total utility which can provide total available income to the members of that

community.

Assumptions :

() If extra incomes were taken from the rich and given to the poor, the total utility
experienced by the community would increase

(I) Equal pay for equal work

(A) Only assumption I is implicit

(B) Both assumptions I and I] are implicit
(C) Only assumption II is implicit

(D) Neither I nor II s implicit

D bt [38] CQRP- 2



WY HEAT 83 3R 84 F fw Frdyr

e, I, qum, W, e, wiew, w6 o ghe 9w % wri ek 33 ¥ ok A i
ﬂ@%lj::,%m%aﬁawwmm%shmaﬂzmwm%.w,w
w1 qSrEt | Tifed, w6 w1 S ¥ 1 A, @ ek gt ¥ T §) ghe, w8 ol
U9 & W9 T ¥ o A
Direction for Question Nos, 83 and 84 :

Study the following information carefully and answer the questions given below :

Rohan, Raunak, Sushma, Sandip, Reshma, Sahil, Ruhi and Sristi are sitting round the circle |
and are facing the centre. Rohan is second to the right of Reshma who is the neighbour of
Sushma and Sahil. Sandip is not the neighbour of Rohan. Sahil is the neighbour of Ruhi.
Raunak is not between Sandip and Sristi. Sristi is not between Ruhi and Sandip.

83. gfe & Hed # wm =t feufa 701 &2

(A) TehIT ST s, (B) =i iR g@w

(C) <l 3R <= (D) w3k gEq

What is the position of Reshma with respect to Sristi?

(A) Immediate left (B) . Second to the right

(C) Fourth to the right | (D) Second to the left
84. Trefafea & & +F vt @l €2

(A) wifeet 3R wet

(B) i+ 3k Uga

(©) Ffe o 7=

(D) wEW ik wfed

Which of the following are not neighbours?
(A) Sahil and Ruhi |

(B) Raunak and Rohan

(C) Sristi and Raunak

(D) Sandip and Sahil

[39] CQRP- 2



UY AT 85 T 86 & few fdwr :
2 T forfedi 9 4 veaw & fou Taifus sygsm s A
Direction for Question Nos. 85 and 86 :
Choose the most appropriate response for each of these given situations :
85. ¥ 1§ ¥ FW | 49 gaiei % fag Fed $ AR 3 gur g3 € RO, e
BEA GE oM@ A0 € Wel w2 ogan g ot fed wd § gam el §1 W
(A) F+0 F Iycr=ma agmd
(B) &9 Tz 4 & qaell w1 wewa vt AfFT whew A wgha € w
(C) Fmall i IorR 1 F&t@l B W F@ F Y Fo Theawas Hed 1 e
Eay
(D) mmﬁ%mm%mmmmmmﬁ
#eH I9M F fou el sie fafas & sgan <dm
Recently, the job market has improved for professionally qualified youth. Yet, you

have come across cases where many youngsters are still not able to get jobs. You

would :

(A) raise the job availability

assist the youth with some money of your own but would not compromise on

(B)
procedures

(C) ignore some procedural steps to cater to the employment needs of the youth

(D) go by rules and regulations to take steps like vocational training to create self-

employment opportunities for unemployed youth

[40] CQRP- 2



86.

87.

mqm@atﬁd%aﬁ%mﬁ?w‘mﬁi‘aﬁtmﬁmﬁ%m~mmgﬁ%ﬁﬁm

m#m%mzﬁ?ﬁiﬁ?ﬁﬁlmmmﬁﬁﬁa@mqmgﬁﬁm

w1 & foe wg T R e

(A) mm%muwmwﬁﬁﬁmmaﬂtﬁwmmmm
Frfwy it fE S

(B) fet i wea W [ F ¥ R e S W e SR

(C) 9% Wr=e 3Wm w8 fF wm 38 o |1 smem

(D) 3= wavA & et | <7

You are the Senior Production Manager of a steel firm and have won the bid to

supply steel for railway bridges across: the River Ganga. You have been asked to

ensure maximum ﬁrodué:tion in the next eight months. You would :

(A) plan out a production strategy with your team and monitor production schedule
at regular intférvalsv 4 , ‘ B ~

(B) pressurise the production team to meet the target anyhow

(C) relax, thinking that the work will be done anyway

--:(D): pass on the responsibility to higher. management

AR e g fg T #, o R A e 7 R w9 F o R ol P

39 "E@m I & 9gd s o i
(A) 4: 84  ® 7:3%
(C) 6:2%8 . (D) 8:576

“ Four number pairs have been given, out of which'three are alike in some manner

and one is dlﬁ'erent Select the number palr that is different :

(A) B3840 G i (B) 7:399
(C): 16 125852 =i ot = ' (D) 8:576 |
D von [M41] . - _ CQRP- 2



wy= @@ 88 3N 89 & fow Fdyr

frrafafad S &l AYEs IgRt I8 Y U9 & ITR ST ¢
$UH TEHE & WA § I, Syt A we & faw o ama A wifda fRT g €
frefafed $o smavasad § < sE.&. sfrl wdl ¥ g 79 3= SEIGAR! # qaN
%W'@ﬁ@%:
() SHHER ¥ 9w o IR wdaneli F ofga w9 § F9-9-99 8 THSLAT g
IR TSR, 98 @R &, N o iy ghensti § 10 F 4 grr @
(i) IHIRER F U YRR el ¥ uw Q orfus dedl T8 e a9ifet
(if) ITHITER I FR WEE T Soer iw T a1 gEA amAa § d9er A%
THESt ¥ Hae e et
(iv) SHIER w1 &g 21 9f ¥ Fy o 27 o ¥ i 7= B =R
frefafad = siea w3t wdl il [ F3 & seficar ¥ Jva §
(@) IWH (i) |, 9% T Iofear & 7. 8.5 ¥ ifys F1 W@SAAT 3, @ 98
(b)) SHEH (i) W, g TH IHGaR I HH-4-%9 G0 Ve whERi § siea
7.5 QESILHT @R F1 § FaEt §1f9d o ® Wy 18 SFam 197 8, 9 9¢
fafea 1dan & faw 9= g |

N TS T ¥ T SHicaR @ faator e man ¥ 1 e SR S T v SR o

T F R SR F IR W Frefafen § @ ww wRal oo @ ik 3w wwat
A ﬁmﬁmm%mﬁﬁ‘%ﬂmmlmmmﬁaﬁma;
- sfafe #E ogaA =& @ '

Direction for Question Nos. 88 and 89 :
Read the following information carefulfj and answer the questions that follow :

For selection in IT companies through campus placerhent, certain eligibility criteria have
been set up. Following are some requirements as IT companies are looking for some decent
candidates for recruitment : |
(z) Candidate should have at least 8 SGPA as average of all the semester exams.
SGPA is the score which a student gets in semester exams out of 10
(i) Candidate should not have more than one backlog in the semester exams

D .omasl P [42] CQRP- 2



r

88.

(iif) Candidate should have done graduation in cither Bachelor of Technology in

Computer Science or Bachelor of Technology in Information Technology

(iv) Candidates should not be less than 21 years of age and also not more than 27
years of age

In the case of a candidate fulfilling all the conditions, except

(@) At (i) above, a candidate has SGPA of more than 8.5, then he would be eligible
for interview

(b) At (i) above, a candidate has managed to score at least 7.5 SGPA as average of

all secmester exams but has no backlog, then he will be eligible for written test

In each question below, details of one candidate are provided. You have to take one
of the following courses of actions based on the conditions given above and the
information provided in each question, and mark the number of that course of action

as your answer. You are not to assume anything other than the information provided
in each question.

qu;tﬁﬁmiﬁ'&aazsms%ﬁ%aﬁﬁiimeﬁfhm1$1qﬁx%$aﬁr%|aﬁrﬁﬁenff
Iga 3Ed WWALRT 9.25 %) a8 26 T F T

(A) TE WRIHR H 9wl

(B) <9 9 faar smam

(©) ¢ 1t fofa o & fag a1

(D) <9 @@ &I fan Sem

Divya, graduate in Bachelor of Technology in Computer Science, has zero backlog.
She has an average SGPA of 9.25 in all the semesters. She is 26 years old.

(A) She will be eligible for interview

(B) She will be selected

(C) Data insufficient to take any decision

(D) She will not be selected

[43] CQRP- 2



g9, TN T ¥ AR SAE T § T 24

90'

it A 3 o e A &

it v 1§ 7.8 1 i gaeh Ry, wiw fw e

(A) S =wgq Tl fEa s

(B) % W & ferd o B

(C) Su& wgA fean S

(D) ¥ fafa wien & fag = g

Rohit, a 24-year old graduate in Bachelor of Technology in Information Te
has scored average SGPA of 7.8 in all the semesters without any backlog.

chnology,

(A) He will not be selected

(B) He will be eligible for interview
(C) He will be selected

(D) He will be eligible for written test

wwﬁmtﬁﬂ%ls%mﬁ%mwﬁmaﬂwomﬁ%mm
T e BT Fae @ SEigar ) fasr # g § sifia $ Hacmd 1 46%
Tl W o1 ot 39 oTe R ¥ 591 Ha sifve fuet | st w61 frt el < wEm 9|

HIT :

(A) 3358
(B) 5037
(C) 3266
(D) 2847

In an election, 15% of the voters on the voters’ list did not cast their votes and
80 voters casted blank votes on ballot paper. There were only two candidates. The
winner was supported by 46% of all the voters mentioned in the list and he got
591 votes more than his rival. Find the number of votes winner got :

(A) 3358

(B) 5037

(C) 3266

(D) 2847

144] CQRP- 2



91.

‘ﬂﬁa,b,caﬂ;dq-gwgﬁ

?ﬁ(5a+2b-—4c+d)a-ﬁsnaaﬁ:

A) 0

B) 3

<© 4

D) 2

Ifa, b, cand d are‘ihtege;s‘éuch that
29 ‘ i B

136 a+ 1
b+

then find (5a + 2b — 4c + d) :
(A

®) 3

© 4

©) 2

D aag

-

[45]
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92. s fre e W E ok 7w (SP) F140%

93.

s s % o % TR,

¢ g @ wA qed (CP) ¥ I W I :
(A) 2:7
B) 5:9
(C) 18:35
(D) 10 : 63

. ) iscount % e
If the discount on a book is 40% of the selling price (SP) and e } fals

profit %, then find the ratio of discount offered to the cost price (CP) :
(A) 2:7

B) 5:9

(C) 18:35

(D) 10: 63

TF ISM F fasrra s ofR gorndt Forg & gars foriy &1 31U 7 ¢ 2 ¥ | SREE S
R s S gRT A A o AiE #) Wen 26 1 5% oUW § | 9 oo T
T 107,445 =, @ favmg S & AEET 50 YA w1 T 9 U TE ST

(A) ¥ 39,725

(B) < 46,375

(C) % 42,500

(D) ¥ 43,225

The airfares of business class and economy class of a flight are in the ratio 7 : 2. The

number of passengers travellerd by economy class and business class were in the ratio

26 : 5. If the total collection was ¥ 1,07,445, then find the tota] amount paid by the
business class passengers :

(A) ¥ 39,725

(B) ¥ 46,375

(C) ¥ 42,500

(D) ¥ 43,225

[46 \
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\ A N —

I

04 372 9N 734620 W W el e e § 7
(A) 227
(B) 254
(C) 283
(D) 245

How many natural numbers are there between /372 and J74629 ?
(A) 227

(B) 254
(C) 283
(D) 245

03

05, nﬁzas?rtn,xz-zx-l=0wﬁ1ﬁm%ﬁrﬁv%‘,ﬁiwmﬂmﬂw%ﬁm§:qﬁa’;
p’ |
R = €2

a
(A) x2-82x-1=0

(B) x2+42x-1=0
(C) x2-4lx-1=0
(D) wwed & @ HE A

If a and B are the roots of equation x2— 2x = 1.= 0, then what is the equation whose

3 B3
roots are -'-3-2- and
(A) x*-82x-1=0
(B) 2+42x-1=0

8 (C) x2-41x-1=0
|

i‘ : (D) None of the above
i iD e [47] CQRP - 2




96. TX sikn'qauﬁmmﬂtmowmmauqaaﬁfﬂmsﬁvﬁ.tmm
A r #
ﬁﬁﬂ'@l?ﬁ'ﬁ.%luﬁ'fiﬁﬂTXYmWA%,ﬁl gaamnﬂm.

302 15
) 20 ® 2
il 15
© 7 ® =

TX and TY are tangents to the circle and O is the centre of the circle. The radius of
the circle is 8 cm and the length of 7O is 17 cm. If the area of the triangle 7XY is

A, then the value of "-14- is):
30

X
T
Y
a) 3042 15
(A) - ®) E
mad 15
© o
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98.

TR I g1 g S e & a2 4]
(A) 4158

(B) 3292
(C) 3486
(D) 3722

A cubi i :
A cubical box of diagonal 192 cm is surmounted by a hemisphere of radius

14 cm. What is the total surface area of the solid thus formed [in cm?]?
(A) 4158

(B) 3292
(C) 3486
(D) 3722

T Tafvee of W 12% wfg a6 = T | < auf % fou awafs == 7 3,816 %, 7@
= it €9 9 Faifaa gei ol U ®

@y ¥ 15,000

(B) ¥ 10,000

(C) % 12,500

(D) ¥ 14,500

‘The compound interest on a certain sum for 2 years at 12% per‘ annum is ¥ 3,816,
when the interest is compounded yearly. The sum is :

(A) T 15,000
(B) ¥ 10,000
(C©) ¥ 12,500
(D) 7 14,500

[49) - ~ GQRP- 2



87@1ﬁaﬁq¢wﬁaﬁma@ﬁﬁﬁa@rﬁ15:14%|@qﬁmﬁagzﬁm

99.3ﬂﬂﬂﬁmﬂﬁwﬁ16%% ﬁ%%lﬂﬁmﬂ'ﬁﬁﬁmmm“aﬁ'
wrsfRdl 1 aiwd ofF H %7
(A) 58 (B) 56
(C) 522 (D) 57 |
In a class of 87 students, the ratio of boys to that of girls is 15 : 14. The average
score of boys in a'test is 16—2—% more than that of girls. If the average score of all
students is 63, then what is the average score of girls?
(A) 58 (B) 56
© 522 D) 57

100. 5 39 3R 4 wfeend w wm W 27 fA § W@ o o €, Safe 7 gou 3R 9 Afeend
IH M 15ﬁﬁﬁwwm%|wmw 11111%,2gmafnsn%arq
fre Tl B g war? | |
(A) 35 e
(B) 42 fa
(C) 37.5 fga
(D) 40.5 fea
5 men and 4 women can complete a work in 27 days, whereas 7 men and 9 women
can do the same work in 15 days. In how many days can 2 men and 5 women
complete 111.11% of the same work? '
(A) 35 days |
(B) 42 days
(C) 37.5 days
(D) 40.5 days

D | [50] . | T carP- 2
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